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1) A thorough research into the causes of Ebola  

A)  mandatory B)   complementary  

C)  outdated D)   deceptive 

E)  meticulous 

 

2) regardless of gender, influenza threatens 
everybody 

A)   as well as B)   irrespective of 

C)   on account of D)   with the help of 

E)   instead of 

 

3) on behalf of the newly elected chairman 

A)   in the name of B)   irrespective of 

C)   apart from D)   as regards 

E)   thanks to 

 

4) as far as the recent figures are concerned 

A)   in pursuit of B)   along with 

C)   by means of D)   in addition to 

E)   according to 

 

5) as well as clinical studies on new medicine 

A)   as for B)   apart from 

C)   in excess of D)   in order to 

E)   in terms of 

 

6) studies as to economic growth in China 

A)   on the verge of B) regarding  

C)   rather than D) in response to 

E)   including 

 

7) in charge of the new language department 

A)   vulnerable to B)   indifferent to 

C)   capable of D)   responsible for 

E)   appropriate for 

 

8) Since most jobs will be replaced by robots, 80 
percent of people are probably not going to 
work for a living. 

A) Some people may have to go to work despite 
computer domination in most workplaces. 

B) Robots will have remarkable effects on labor 
and society. 

 

9) No other country has achieved economic goals 
as much as China has had. 

A) China is the most successful country with 
respect to economic performance. 

B) China has performed as well as other countries 
in term of economic performance. 

C) Other countries did not have any success in 
fulfilling their economic goals. 

10) Medical researchers have had hardly any 
progress in fighting against the Ebola disease. 

A) Medical researchers have failed to deal with 
Ebola. 

B) Medical researchers have had almost no 
success in the fight against Ebola. 

 

11) Had the consequences of the new drug been 
foreseen, it could have had remarkable impacts 
over the fight against Ebola. 

A) The new drug has had notable consequences 
because its effects were precisely predicted. 

B) Unfortunately, medicals have failed to realize 
the noteworthy effects of the new drug. 

 

12) China did not center on scientific research for 
years, as its closest match India did. 

A) While India focused on research, China did not. 

B) Neither China, nor India focused on scientific 
research. 

 

13) When global temperatures show an upward 
cycle, so do sea levels. 

A) There is a direct relationship between 
temperature and sea levels. 

B) The more sea levels rise, the more 
temperatures increase. 

 

14) An increasing number of countries have started 
to contribute to the study of developing of 
vaccines against HIV. 

A) make things better 

B) make things worse 

 

15) The actual causes of global warming are not 
environmental phenomena but lack of social 
awareness. 

A) It is lack of social awareness that matters most 
in the problem of global warming. 

B) When it comes to global warming, not only 
environmental but also social concerns matter. 

 

16) No other species is as communicative as human 
beings are. 

A) Species other than humans do not 
communicate at all. 

B) Humans are the most communicative beings on 
the Earth. 
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1) In the UK, If English voters vote to leave the EU, 
this will be enough to take the UK out of Europe 
against the preference of a majority of Scots, 
Welsh and Ulster voters. 

A) English voters own an overwhelming majority 
over the other nations in the UK . 

B) The majority of Scots, Welsh and Ulster voters 
will determine if the UK should remain in the 
EU. 

 

 

2) While being exposed to a myriad of changes in 
technology, we have become more confronted 
with changes in global climate, economic 
system and world. 

A) We have been conscious of how the global 
climate, economic system and world are, 
whereas we do not know a lot about 
technology. 

B) Just as we are facing changes in technology, 
we come across changes in global climate, 
economic system and world. 

 

 

3) A proper anti-cancer drug would function 
without harming our organs. 

A) Anti-cancer drugs function without harming our 
body. 

B) There is no proper or totally harmless anti-
cancer drug yet. 

 

 

4) In economic terms, what matters most is not the 
amount of your savings, but how much you can 
invest. 

A) In economics, investments have a priority over 
savings. 

B) With respect to economic insight, not only your 
savings, but also the amount of investment is 
crucial. 

 

 

5) We can remedy our planet’s problems, but only 
if we are willing to redesign wasteful 
manufacturing processes and give up our 
throwaway habits. 

A) We cannot not solve our planet’s problems 
without altering the way of processing goods 
and abandoning our throwaway habits. 

B) If we are to enhance our manufacturing and 
throwaway habits, we first have to solve out our 
planet’s problems. 

6) Interfere — someone’s business  
A)   against B)   with 

 

 

7) Step — from office 

A)   down B)   with 

 

 

8) Watch — amazement 

A)   at B)   in 

 

 

9) Rely — scientific facts 

A)   by B)   on 

 

 

10) In response — the crisis 

A)   to B)   on 
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